
Spiel 1 Spiel 2 Gesamt

13:10 A 04 Redl Karl 55 + 53 = 108 O

A 07 Frühwirth Hermann 48 + 42 = 90 #

13:17 A 05 Aschauer Franz 48 + 46 = 94

A 03 Harucksteiner Thomas 45 + 59 = 104 #

13:23 A 06 Puchberger Franz 58 + 53 = 111 O

A 02 Achleitner Christian 56 + 55 = 111 # #

13:31 A 01 Temper Anton 43 + 50 = 93

A 07 Frühwirth Hermann 55 + 41 = 96

13:38 A 04 Redl Karl 53 + 52 = 105 #

A 05 Aschauer Franz 52 + 49 = 101 #

13:44 A 03 Harucksteiner Thomas 50 + 52 = 102

A 06 Puchberger Franz 56 + 45 = 101

13:50 A 01 Temper Anton 51 + 50 = 101 #

A 02 Achleitner Christian 54 + 49 = 103 #

13:57 A 07 Frühwirth Hermann 55 + 50 = 105

A 05 Aschauer Franz 46 + 51 = 97

14:04 A 06 Puchberger Franz 50 + 55 = 105 # O

A 04 Redl Karl 51 + 53 = 104

14:11 A 03 Harucksteiner Thomas 57 + 57 = 114

A 01 Temper Anton 47 + 47 = 94

14:17 A 02 Achleitner Christian 51 + 46 = 97 #

A 07 Frühwirth Hermann 53 + 42 = 95

14:24 A 05 Aschauer Franz 48 + 55 = 103

A 06 Puchberger Franz 49 + 56 = 105

14:30 A 01 Temper Anton 52 + 53 = 105

A 04 Redl Karl 52 + 53 = 105

14:36 A 02 Achleitner Christian 54 + 55 = 109 #

A 03 Harucksteiner Thomas 58 + 48 = 106



14:42 A 07 Frühwirth Hermann 48 + 58 = 106

A 06 Puchberger Franz 51 + 57 = 108

14:51 A 05 Aschauer Franz 49 + 53 = 102

A 01 Temper Anton 56 + 42 = 98 # O

14:56 A 04 Redl Karl 52 + 46 = 98

A 02 Achleitner Christian 49 + 59 = 108 #

15:04 A 03 Harucksteiner Thomas 50 + 48 = 98

A 07 Frühwirth Hermann 52 + 52 = 104 #

15:10 A 01 Temper Anton 58 + 51 = 109 #

A 06 Puchberger Franz 44 + 48 = 92

15:16 A 02 Achleitner Christian 51 + 47 = 98 #

A 05 Aschauer Franz 45 + 51 = 96

15:23 A 03 Harucksteiner Thomas 53 + 55 = 108 O

A 04 Redl Karl 44 + 54 = 98


